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QUESTION 1

A customer is planning to migrate from an HP EVA to an HP 3PAR StoreServ 7000 Storage System The customer uses
disk groups on the EVA for fine-grained database management.

What can the customer use to achieve fine-grained database management on the HP 3PAR StoreServ 70007
A. logical volumes

B. common provisioning groups

C. disk groups

D. virtual volumes

Correct Answer: B

Terminology comparison between EVA and HP 3PAR StoreServ EVA P6000: Disk Group HP 3PAR StoreServ:
Common Provisioning Group (CPG)

QUESTION 2

A flower distribution company is planning to redesign their web site and offer additional products and delivery services.
They expect a significant increase in web traffic and sales.

They want to ensure a quick response time and in some cases, provide same day delivery of an order.

This will put an increased demand on their existing IT environment. This environment consists of a small SAN, two
C7000 blade chassis and a storage array

Which change to their environment is recommended?

A. upgrade to larger disks in the storage array

B. install additional disks in the storage array

C. set up replication between the storage blades and the storage array
D. install additional SAN switches

Correct Answer: B

QUESTION 3
A customer plans to implement an HP StoreVirtual 4000 Storage System.
Which NICs can the customer use to enable adaptive load balancing after installation? (Select two.)

A. three 10GbE
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B. one 10GbE
C. one 1GbE
D. two 10GbE
E. two 1GbE
F. three 1GbE

Correct Answer: DE

Bonding method supported

Supported NIC bonded configurations

ALH ALH LALCE LaCp AR AfP
1G4 10GE 1Gh 10 Gh Tiab 10 G0
ALH 1GE ¥ N
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ALE = Adastive load balancing
LACP = Link aggregation

BIP = Activel/Passive

¥ =Supported

M =Mol supporied

Gb = Gigakits

Note:

* Adaptive load balancing (ALB)

Uses interfaces simultaneously for data transfer (receive and transmit load balancing). If one connection fails, the
remaining connection continues without disruption to the storage nodes operation or iSCSI sessions. It offers the

benefits of the

increased transmission rates without additional switch configuration. Interfaces in an ALB bond may be connected to

different switches and therefore supports switch failover.

QUESTION 4

A customer plans to migrate data from a third-party storage system to an HP 3PAR StoreServ 7200 Storage System.

Latest HP0-J66 Dumps | HP0-J66 PDF Dumps | HP0-J66 Braindumps

3/4


https://www.passapply.com/hp0-j66.html
https://www.passapply.com/hp0-j66.html
https://www.passapply.com/hp0-j66.html

VCE & PDF https://www.passapply.com/hp0-j66.html
2024 Latest passapply HP0-J66 PDF and VCE dumps Download
PassApply.com

The new storage system must provide up to 128 disk drives.
How many additional drive chassis does the customer need?
A. Three

B. Four

C. Five

D. Six

Correct Answer: B

QUESTION 5

A company needs to migrate from their existing legacy storage system to a new multi-site cluster with Fibre Channel
support and 10GbE ports. Which HP solution meets these requirements?

A. HP StoreAll 9300 IB

B. HP EVA P6500 FC/iSCSI

C. HP StoreSure 2000

D. HP StoreVirtual 4330 FC

Correct Answer: D

HP StoreVirtual 4330 FC Host interface

*

1 GbE iSCSI (4) Ports and

*

10 GbE iSCSI (2) Ports and

*

8 Gb Fibre Channel (2) Ports
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